Exercise TA

1. (a) Yes
(b} No, because the element 2 has two images.
(e) Yes
(d) Yes
(e) No, because the element 4 has no image.
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(v) Fix) glx)

S5x — 9 =2 — fix
1 1.x 11

x =1
(wvi) 2f(x) = 3g(x)
2(Sx —9) = 3(2 — 6x)
10y — 18 =6 — 18x
2Bx = 24
&
r oy —
= d.x 4 9
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4{3) + 9
=21
(i) 1) +K2) =13 + 17
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Co BLLY 4+ B(2) = (1 4 2)
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(i) FC1) 2 f(2) = 13 2 17
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o BLL) e B(2) e (L < 2)
(iv) K(2) + f(1)= 17 + 13
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1
2

[
2

()~




=

fi 3 3 ]
L3)= —(3)
(n) r +

#8 =

3
(2 + Hi(3))=2 42—
4

g —

« W2) + 3= (2 + 3)
>

| 2
i A= 1— — —i(4)
() g r 3

5
=] —
12
1 .
gl(l) = I: - ?1:I
B 1
A2
5 1
gl-—l-]—g{:l:—lE —E—E
q
] — L
12 12
e
3
|
gl4—2l=g12}=—ﬁ

S g4y — g(2) = g4 — 2)

(i) f(x) = gix)
3 | | 2
— X4+ — =] — — X
4 2 4 3
3 2 | 1
— x4+ —x=1— = —
4 3 4 2
17 3
— Y —
12 4
9
X —
17
3 |
(iv) flar) Eu‘i- —
3 1
i Zar) — (2aa) + —
2
| |
|l —a+ —
2 2
1 2
glla)= 1 — - — (3a)
4 3
|
= 1 — — 2a
4




il

2
3

]
a)=1— -
- 4

i l I 2
ol 1§
3

fla+ 1Y+e(ad)= —a+1— +]1— -
; it Tk SRl
-—'Lulll
12 2

For fla + 1) + gla) =5,
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For f(2a) = g(6a),
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